	9-2 =
	

	7-5 =
	

	12-4 =
	

	14=10+
	

	5 =
	

	3+12 =
	

	8+4 =
	

	10-1 =
	

	2+9 =
	

	10 =
	


 (
Name:
 
)


Copy and Paste the number pictures next to the correct answers
	[image: ]
	[image: ]
	[image: ]
	[image: ]
	[image: ]

	[image: ]
	[image: ]
	[image: ]
	[image: ]
	[image: ]


	
[bookmark: _GoBack]
image7.png
Seven




image8.png
Ten




image9.png
Twelve




image10.png
Two




image1.png
Eight




image2.png
Eleven




image3.png
Fifteen




image4.png
Five




image5.png
Four




image6.png
Nine




